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(1) BEAKFEEE Kh=| 2.0 |
(2) REtANERE Kv=Kh/2=| 1.0 |
(3) FEHAKFHES Fh=Kh-W-9. 8=| 4723.6 IN
(4) BEtRBEHBES Fv=Kv-W-9. 8=| 2361.8 IN
(5) 7w h—HIL kD3IHRN Rb= %H?ijﬁyg = 2049.7 N
(8)7 v A—HKIL FOHAMH Q=Fh/N=| 1180.9 IN
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D3IRBHE o=Rb/A=| 26.3 IMPa< ft=176MPa
Q@AM HE T =0/A<] 15.1 IMPa< fs=101MPa
QBIRE LA ERBIRIT 154 fts'=1.4ft-1.6 7= 222.2 MPa
ffE L. fts' SFtO & Efts=fts', fts' >ftOE Efts=FtTHEDT fs=| 176.0 MPa
o=[ 26.3 | MPa < fts=| 176.0 IMPa
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@aviy—+rOEE =] 180 = | 0.180 m
QR FOEARE S =] 130 = | 0130 m
@FASIRFE Ta=| 5488 | N > Rb= | 2050 N
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